Online appendix - Not for publication

A. Housing market

Since there is a fixed total supply of land equal to 1 in the city, the housing supply equation is

(L) = (2B (A.24)

where H(L) is the total quantity of housing supplied in a city of size L.
The aggregate local demand for housing is

(I —nw(L)L
pu(L)
Equations (A.24) and (A.25) pin down prices and quantities of housing produced. Housing supply (equation

(A.24)) and demand (equation (A.25)) equate so that py(L) = (1 — 1) w(L) Lb. This yields the following labor
use and profits in the housing sector:

H(L) = (A.25)

(L) = (1 —b)(1—n)L, and (A.26)
mr(L) = b(1 — ) Lw(L). (A.27)

ddllo%% = 1ij. Anticipating on the policy discussion, note that a

decrease in b increases the housing supply elasticity and also leads to a flatter wage schedule across city sizes, as
dlogw(L) _ ;1-—n
dlog L bT

The housing supply elasticity is given by

B. Proofs of section 3.3

B.1. Lemmal

Proof Fix the sector s. Since m(z, L, s) is strictly LSM in (z, L), if follows that for all 2y > 29 and L; > Lo,
7(z1,L1,s) 7(z2,L1,8)
w(zi,L;,s) w(zz,L;,s) .
L%(z) is a non-decreasing function. [

So if z has higher profits in L; than in Lo, so does z;. Necessarily, L;(21) > L3 (22), and

Moreover, in the case where the support of city sizes £ is convex, then L;‘(z) is a strictly increasing func-
tion. Since the set of z is convex by assumption, and ¥(z, L, s) is such that the profit maximization problem
is concave for all firms, the optimal set of city sizes is itself convex. It follow that L7(z) is invertible. It is lo-
cally differentiable (using in addition that ¢(z, L, s) is differentiable), as the implicit function theorem applies and

Yo L
x o) x
dL(z) iy (2,L7(2),s)
= a('z/:iL) .

57 (z,L;(z),s)

B.2. Equilibrium when £ is not convex

I describe here for completeness an equilibrium when the set £ is not convex. Consider a non convex set of city
sizes L that I write it as a union of intervals on R*. : £ = J, ,44l@i;@i+1]. This nests in particular the case
of a discrete number of city sizes. I focus on the case where these intervals closed, but the proof is similar if
some intervals are open. Consider [a1,as] and [a3, ag] with a3 < a4 two such intervals, without any city available
in-between. Consider firms whose unconstrained city choice would fall between a; and a4, which correspond to
a closed interval: [z1,24] = L;_l([al,cu]) (it is well defined, given that L, is continuous and invertible). Write
zi = L3 (a;). By construction, for all z € [21, 23] U[23, 2], we get that L*(z) = L;(z), hence L7 (z) is increasing on
[21, z2] and 23, 24] respectively. Then, pick 2 € (22,23). We know that L} (22) < Lj(2) < L}(z3) since L} (z) is non
decreasing, hence az < L7(z) < ag. Since L*(2) € L, this means that L}(2) = az, or L}(z) = a3. By monotonicity
of L3(z), there exists a threshold Z € (22,23) such that if 2 € (22,2), L}(2) = a2 and if 2z € (Z,23) L}(2) = as.



Firms “bunch” at the city size closest to their optimal unconstrained choice (either the one to the left or to the
right), with a higher-z firm choosing a city size at least as large as a lower-z firm. This bunching preserves the
monotonicity of the matching function L7(.).

B.3. Proposition 2

Proof Fix j. For productivity, the results comes from the facts that (1) L7(z) is non decreasing in z and (2) that
¥(z, L, s;) is increasing in L. Revenues are proportional to profits (r; * (z) =

=5 (2)). The proof for profits is
J

as follows. ¢ (zm,Lr,s;) > ¢¥(z1,Lr,s;) as v is increasing in z, which leads to m(zmg, L1) > 7(2r,Lr), as firms

face the same wage in the same city. Finally, 7(zm, Ly, s;) > n(2m, Lr,s;) as Ly is the profit maximizing choice

for zg. Therefore, m(zg, Ly, s;) > (21, L, s;). |

In addition, ¢, = ¢, — (1 — Oz)l_?".

Proof For a given city size L and a given sector j, 7(L) = >__ ;. ;75(2) o< Y, ;, pw(L)li(2) o w(L)[; (L),

. .. . . dlog €* (L dlog r* (L .
where their proportion is constant across city sizes. Therefore —j i _ 0 _ €, where the elasticity of
og L dlog L ’

wages with respect to city sizes is €,, = b% |

B.4. Proposition 3

Proof Let Z: L x Ax FE — Z be the correspondence that assigns to any L € £ and « € A a set of z that chooses L
at equilibrium. (It is a function when £ is convex (see proof of Lemma 1).) Define z(L, o, s) = max,{z € Z(L,, s)}
as the maximum efficiency level of a firm that chooses city size L in a sector characterized by the parameters (c, s).
I will use the following lemmas:

Lemma 11 log7 is supermodular with respect to the triple (z, L, )

2 2 2
It is readily seen that: 2 log(;;(;’LL’a’S) >0, 2 logg(z’aL’a’s) =0 and 2log ”(Z’QL’O"S) = (‘7_12;2(1_7’) > 0. This result
does not rely on an assumption on the convexity of £. Checking the cross partials are sufficient to prove the

supermodularity even if L is taken from a discrete set, as m can be extended straightforwardly to a convex domain,
the convex hull of L.

Lemma 12 Z(L,«, s) is non decreasing in «, .

The lemma is a direct consequence of the supermodularity of logm with respect to the quadruple (z, L, «, s).
Using a classical theorem in monotone comparative statics, if log7(z, L, «, s) is supermodular in (z, L, e, s), and
L*(z,«, 8) = maxy, logm(z, L, a, s) then (zg,ay,sy) > (21, ar,s5) = L*(zg,am,sg) > L*(z1,ar, si.). Note that
everywhere, the > sign denotes the lattice order on R3 (all elements are greater or equal than).

Coming back to the proof of the main proposition, we can now write:

F(L;a, s) = P(firm from sector(a, s) is in a city of size smaller that L)
= F(z(L,a,5))

where F'(.) the the raw efficiency distribution of the firms in the industry. Let ay > ay.

For any z € Z, the previous lemma ensures that L*(z,ay,s) > L*(z,ar,s). In particular, fix a given L
and s and write using shorter notation: z,, = zZ(L,ayr,s). Then L*(Z,,,an,s) > L*(Z.,,ar,s) = L. Because
L*(z,ap, s) is increasing in z, it follows that:

z€ Z(L,ap,s) = z < Z,,

and therefore Z,,, < Z,, or using the long notation: z(L,am,s) < Z(L,ar,s)
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It follows that F(Z(L,ap)) < F(Z(L,ar)) and that F(L; «, s) is decreasing in «. This completes the proof of
the first order stochastic dominance of the geographic distribution of a high « sector vs that of a lower «.

The proof is exactly the same for the comparative statics in s, we just have to verify that 7(z,L,s) is log

o—1
supermodular in (z,L,s). Since m(z,L,s;) = n(’fu((ZL’)Ll’S{Y) 5125 and w(L) doesn’t depend on s, 7(z, L, s)
J
directly inherits the log supermodularity of ¥ (z, L, s) in its parameters. |

B.5. Proposition 4

Proof Within sectors, the revenue function r;‘(z) at the sorting equilibrium is an increasing function for any j. Let
p1 < p2 € (0,1). Under the assumption, maintained throughout the comparative statics exercise, that sectors draw
z from the same distribution, there 3 21 < 23 such that Qj, (p1) = 7}, (21) and Qj,(p1) = 77,(21) (same thing for
zo and p9), ie. the quantiles of the 771 and 77, distributions correspond to the same quantile of the z distribution.

P Qjy (p2) _ 7ii(22) Qj,(p2) _ 7ia(22)
This yields 5205 = 7=y 20d G260 = w60
Finally, it is a classic result in monotone comparative statics (Topkis (1998)) that if 7(z, L, «) is log-supermodular
7";2(22) 7";1(z2)
77;2('21) - 77;1(21)

portional to profits within sectors, which completes the proof. The same proof applies for s. |

in (z,L,a), then 7*(z, &) = maxy w(z, L, ) is log supermodular in (z, a), or . Revenues are pro-

B.6. Corollary 5

Proof Let p; € (0,1) be a threshold above which the distribution is well approximated by a Pareto distribution
in sector j, and r; the corresponding quantile of the distribution. The distribution of r conditional on being larger
than r; is:
r
Vr >y, Hi(r|r>r)~1—(—)"%9,
T
where (; is the shape parameter of the Pareto distribution for sector j. Thus, if F;(r) = p, one can write:
N
Vp > pj, p R E(rg) + Hi(r) 2 pj+1- () ¢
J

r _ 1
—~(1+pj—p)
J

Letting po = max(p1, p2) and writing r; = Q;(po) for j = 1,2, and using proposition (4) gives:

Qi(p) _ Qj2(p)
Qj1(po) ~ Qj2(po)
(1+;Do—p)_ﬁS(l—kpo—p)_é for all p > py and p < 1
G 2> G,

where the last inequality comes from 14 py —p € (0,1). [ |

C. Extensions of the model

C.1. Extension with costly trade

In this extension of the model, I consider an economy with a more realistic geography. Call C the set of sites where
firms and workers can locate. To ship goods from site i to site j € C2, firms incur an iceberg trade cost Tij- To
simplify the exposition, I consider an economy with only one sector and where firms only use labor as an input.
Extension to the cases with several sectors and the use of capital is straightforward. In the presence of trade costs,
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local price indexes P; for the traded good produced by firms are not equalized between cities and depend on the
whole distribution of firms across space:

oL ) ]
jee ez \¥ (2, L)) A '

In this expression, the set Z(j) is the (endogenous) set of firms that are located on site j, and Fj(z) the
corresponding distribution of firm types. It is convenient to define the average city-level productivity ; for any

city j:

P =

o—1

Y= / ¥(z, L) dF;(z)
2€2(j)

We can then rewrite the price index simply as:

1—0o ﬁ
Tt gl . C.28
/jec ( ¢j ) ]] ( )

Tij Wi

A firm of type z located in site ¢ has marginal costs DL when serving city j. This firm’s demand from city

P, =

j (where total demand is w;L; and demand across goods is CES) is therefore:

l1—0o
Tij Wi o—
rij(2) = (1p(sz)) w;L; P!

l1—0o
Firms’ profits, if located in i, are therefore 7(z,1) = 1 fjeC (%) w;L; P;°~1dj. Define the city i’s market
access as:

MAZ = / Tiljig’w]’Lija_ldj. (029)
jec

Then firm’s profits are simply:
1
m(z,0) = —b(z, L;)° " w] T MA;.
o

From this expression, we see already that m(z,) is log-supermodular in z and city size L;. Therefore, for a
given equilibrium distribution of wages, market access and city sizes, more productive firms necessarily choose
larger cities L;: there is positive assortative matching between firm type and city size.!

Furthermore, city size L is still a sufficient statistic for the economic condition of a city, like in the version
without trade costs. To show this, we first use the free mobility condition. The utility of a worker in city ¢ , defined
in equation (2) of the main text combined with the housing production equation (3), is:

"
U=U = ko <w> L;ha=m (C.30)

P ’ ’

)—b(l—n)

where kg =177 (1 —n is an economy-wide constant. Using the free mobility condition and plugging in the

'Proof:Assume that it was not the case, that is that ther_e are two firms z1 < z2 that choose city i1 and i2 with
L(i1) > L(i2). This means, by revealed preferences, that:% > 1. Now, by log-supermodularity of 1) :
Yoz L)) _ (1, L))
¥(z2, L(i2)) = (21, L(i2))
Taking this to the power ¢ — 1 and multiplying both sides by the positive number wl-ll_”MAil/wilg_UMAiz leads to:
m(22, L(i1)) _ m(z1, L))
m(z2, L(i2)) = m(z1, L(i2))

Therefore i2 cannot be the optimal choice of firm z2. This proves that firms choose cities whose size is increasing with z.

>1

iv



expression for the price index lead to:

—b(l—0) (=2 ~ —
WL, b(1-0) (45 ):U—l/ (Tjiwj)l U@/,;f*ldj, (C.31)
jec

where the economy-wide constant U is defined by U~* = (ko/ U)(U_l)/ . Second, the goods market clearing
condition writes:

hence, using the expression for the price index implicitly given by (C.30) and simplifying, it follows that:
- ~ 1-b(c—1)1=n
ngﬂ/Jil_g = Uﬁl/TijliawjaLj (=17
J

dj (C.32)

This system of 2N equations (C.31)-(C.32) corresponds to the one in Allen and Arkolakis (2014), where the
1-n

congestion force is L;7%7, and the local productivities are for now taken to be fixed at ;. Therefore, for a given
vector 1;, and assuming that trade costs are symmetric (7;; = 7;;), we can invoke theorem 2 in Allen and Arkolakis
(2014) to show that there exists a unique vector of L; and w; such that this system of equation holds and that, the
—b(1-o)(52)

following holds for some endogenous constant I': wy Lizzil_” = Fwil_”Li . This can be rewritten as:

wi2071Li1+b1*T"(1—a)1/—}i1fa -7 (C.33)

Recombining equations lead to the following expression for market access:

_ Cb(l—o)(1=n
MAizwaﬂ/)}_UZFw-l_UL-b(l (5 )

? 2

Firm profits are therefore:

It follows from this expression that in equilibrium, two cities with the same size L cannot have different wages
w - otherwise, firms that choose a city of that size L would only go to the city with the lowest wage. Furthermore,
equilibrium wages must be increasing function of city size w(L), since firm profits are increasing in L but decreasing
in w (no firm would choose a city with a lower L if it came with a higher wage). In turn, the local price index P; can
be simply expressed, in equilibrium, a function of city size by (C.30), using the fact that wages are (in equilibrium)
a function of local population, w(L).

Despite the introduction of costly trade in the model, it is still the case that, in equilibrium, price and wages
are a function of city size only, that is : city size is again a sufficient statistic to describe the equilibrium in terms
of firms and consumer choices.

Furthermore, firms profits can therefore be written:

oL L5\
(oo - (HEEIEEEY

from which it is readily seen that the profit function is log-supermodular in (z, L, s) and (z, L, «).The proofs of
lemma 1 and propositions 2, 3 and 4 - which are based on this property - carry through to that case.

C.2. Extension with imperfect sorting

I examine the properties of the model in the presence of imperfect sorting as hypothesized in the empirical speci-
fication of section 4. The properties of equilibrium described in section 2.3. of the main text either hold true on
average, rather than systematically, in that case, or are unchanged.



Set up with imperfect sorting Productivity in city size L is given by equation (20) in the main text. The
idiosyncratic productivity shocks €; ;, for each city size are i.i.d. across city sizes and firms and distributed as
a type-I extreme value, with mean zero and variance vg. Therefore, writing ¢ the non-stochastic part of firm’s

productivity ¢(z;, L, sj) = exp (aj log L 4 log(z;)(1 + log LLO)SJ') leads to the following expression for firm i’s profit:

w(zivasj)eeiYL) Rj P;fj*l.

mj(zi, L) = £y ( bt (1=ay)

It will prove useful to write Vj(z, L) the non-stochastic part of firm profits:

Ls)\ e
Vi(z, L) = Ky (M) R, Py, (C.34)

[t (=ay)

and to note that the multiplicative random term e(?i ~1¢:.z is distributed Frechet, with shape parameter Uu_lijl . The
J

firm’s discrete choice problem is then:

L7 (z;) = argmax Vj(zi,L)e("f_l)e"’>L
LeLl

Given this setup, the following characterizations of the equilibrium hold in the case of imperfect sorting.

Characterizations with imperfect sorting First, Lemma 1 in the main text states that, within each
sector, the matching function is increasing: high-z firms are systematically found in larger cities than lower-z firms.
With imperfect sorting, we can prove a related result:

Lemma 1’: Take z; < z3. Within a given sector, the distribution of city sizes for zo-firms first order statistically
dominates the one for z; firms. That is, defining F(.|z) the CDF of the distribution of city sizes chosen by firms of
type z :

21 <zo=>F(L|2)<F(L|z)

High-z firms are more likely to be found in large cities than lower-z firms.

Proof The firm seeks to maximize profits. Given the properties of the Frechet distribution, the probability that
a firm of type z in sector j chooses city size L is:

V(z,L)71

S G — (C.35)
ZL/ V(Z7 L/)ﬁ

p(L[z)

Since 1(z, L, ;) is LSM in (z, L), V (2, L) 7T is LSM in (z, L). In turn, igéflzzg = (KEZ%;) s (%) o

ggifizig . This means that p(L|z) has the monotone likelihood ratio property ( Milgrom (1981); Costinot (2009)).
Hence, in particular, the distribution of L for a high z first-order stochastically dominates the distribution of L for

a low z. Furthermore, it follows that p(z|Lz) first order stochastically dominates p(z|L1) when Lo > Lj, because:

p(e2, La) _ p(Lal22)f(22) _ p(L2lza) _ p(Lelz1) _ ple1, Lo)

p(z2,L1)  p(Lilz2)f(z2)  p(Lilze) = p(Lilz)  p(z1, Ly)’

Within a sector, firms’ raw efficiencies z are higher in larger cities in the sense of first order stochastic dominance.

Second, proposition p:obs of the main text states that, within each sector, firm profits, revenues and produc-
tivities increase in equilibrium with city size. With imperfect sorting, the results hold true on average over firms
located in a given city:
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Proposition p:obs’: Within each sector, average firm profits, revenue and productivity increase in equilibrium
with city size.

Proof A firm chooses city size to maximize profits following (21) in the main text. Given the properties of the
Frechet distribution, the distribution of realized profits w*of a firm of type z, once it has optimally chosen its
location, is independent on its endogenous choice of city size L*. That is, F(n*|z) = F(n*|z, L*). Therefore, the
distribution of profits of firms located in a given city of size L* is given by:

p(n*|L*) = /p(ﬂ'* | L*, 2)p; (2| L") dz (C.36)

- / p(a* | 2)p; (z1L%) d

z

Therefore, firm profits in city L are on average:
E[x*|L*] = / /W*p(w* | 2)p(z| L") dr* dz (C.37)
z/ [/* T p(r* | Z)dﬂ'*:l p(z| L") dz (C.38)
= /E[w* | z] p(z|L*) d=

We know that m(z,L) increases in z for all L, therefore E(7* | z) is also increasing in z. Given that p(z|Ls)
first order stochastically dominates p(z|L1) if Lo > Ly, it follows that:

E[n*|Ls] > E[r"|Li]

Firms are monopolistically competitive and demand is CES, so that profits are a constant proportion of revenues

within a sector. It follows that:
E[r*|L3] > E[r*|L]]

Finally, the productivity of firm ¢ in its chosen city size L* is ¢, = ¢(z;, L*, s;)e-L", where:
(rjfl

W(Zi,L*) = KR1j <¢l> Rj P;;jil

L*(lfaj)liTnb

therefore .
(2, L*)7i 7" Lr1-ag) 5t

1
(k1 R;)7 1 P

b =

Then, within sector j :
1 L*(lfaj)ljlnb
Bl9IL7] = B [n*(e, 17) 57 |L°]
(k1 R;) 7~ P

1

The term E | 7% (z, L*) i " \L*} increases with L*, by argument similar to the one made above for E [7*(z, L*)|L*].

1—n

Furthermore, L*1~%) =" also increases with L*. Therefore, E [¢|L*] increases with L* . |

Third, proposition p:sorting of the main text states that the geographic distribution of a high « (resp. s) sector
first-order stochastically dominates that of a lower « (resp. s) sector. This statement is unchanged in the case of
imperfect sorting.

Proposition p:sorting’: The geographic distribution of a high « (resp. s) sector first-order stochastically
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dominates that of a lower « (resp. s) sector.

Proof I make here explicit the dependency of V' on sectoral parameters s and «, and write expression (C.34) as
V(z,L,s,a). We know that V(z, L, s, «) is log-supermodular (LSM) in (z, L, s, «), as the properties of the non
stochastic part of productivity v¢(z, L, s) are the same than in the main text. Therefore, V(z, L, s,a)% is also
LSM in (z, L,s,a). For any t > 0, define the auxiliary function 1j94 (L) equal to 1 if L € [0,¢] and 0 otherwise.
This function is LSM in (2, L, s, a, t), by lemma 3 in Athey (2002). Define

G(z,s,a,t):/ V(Z,L,S,Oé)%]l[()t( )dFL(L /Vz L,s oz)ff TdFL(L).
0

where Fp,(L) is the economy-wide city size distribution. By lemma 4 in Athey (2002), we get that G(z,s,a,t) is
LSM in (z,s,a,t). The probability that a firm of a given type z chooses a city size smaller than ¢ is:

fo (z L,a,s)% dFy (L)
[ V(z, Lo, s)751 dFy (L)

p (firm z chooses city size L < t|a, s) =

By log-supermodularity of fot V(z,L,s, a)% dFy (L) the following comparative statics follow if s < s’

fot zLas)ff 1dFL fo zL,a,s’)%dFL(L)
IV« 8)" = dFL fo @L’,a,s’)% dFp(L)
and similarly if o < o
f V(z, Lo, s)7 7 dFy,(L fo (2,L,0/,8)7 1 dFy (L)
[2V(z L a,s)75 dFL fo (z, L', s")dFy, (L)

Therefore, the conditional probability p (firm z chooses city size L < t|a, s) increases with s (resp. with «),that
is: the geographic distribution of a high « (resp. high s) sector - all else equal - first order stochastically dominates
that of a lower a (resp. lower s) sector. |

Fourth, proposition 4 in the main text states that the firm size distribution in revenues of a high « (resp. s) sector
is more spread out than that of a lower « (resp. s) sector. With imperfect sorting, the following characterization
holds:

Proposition 4 ’: Normalize the distribution of firm revenues across sectors by their mean. Then, the distri-
bution of log-revenues of firms in a high « (resp. s) sector is a mean-preserving spread of that of a lower « (resp.
s) sector.

Proof Given the discrete choice problem (21) in the main text, a firm of type z has a distribution of optimized prof-

o—1

its m (resp. revenues r) that is distributed Frechet, with location parameter T'(z, s, a) = (ZL, Viz, L',s, a)%> " and

shape parameter 2 (common to all firm types z). The distribution of log-revenues in a given sector depends

therefore on the distribution of raw efficiency z and of a shock € according to:
log(r(z, € s,a)) = kK + logT(z,s,a) +¢,

where k is a sectoral constant, € is distributed type-1 EV, with location parameter 0 and shape parameter
k = ZE and is independent of z. Let s; < sp. Define the constant K, = E. [logT(z,s1, )] — E. [logT(z,s2)] .
The distributions of log(r(z, €; s1,)) and log(r(z, €; s2, @) + K have the same mean.

o—1

The location parameter T'(z, s, ) is LSM in (z, s) and (z, ). To see this, note that T'(z,s,a) = E [V(z7 L' s, oz)ﬁ] VR
where the expectation is taken over the economy-wide distribution of city sizes. Since V'(z, L, s, «) is log-supermodular
in (z,s), V(z,L,s,a)7 1 is also LSM in in (z, s), then By [V (2, L', s,a)7 1] is LSM (Athey (2002) shows that the
expectation of a LSM function is LSM) and finally T'(z, s, «) is LSM in (z,s). By a similar reasoning, it is also
LSM in (z, ).
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Fix a. The function logT(z,a,s) is supermodular in z and s and increasing in z, so logT(z,,s1) and
log T(z, v, s2) + K cross (at most) once as functions of z. For z above that point we have log T'(z, a, s2) + K¢ >
log T(z,a, s1). The opposite is true below this point. Writing h(z) = logT(z,a, s1) — log T(z, a, s2) — K,we get
that E, [h(z)] = 0 by definition of K. Given that h(z) is first positive then negative, it follows that:

Z
/ h(=)dF(2) > 0
0

for all Z. This proves that the distribution log T'(z, e, s2) + K second-order stochastically dominates the distribution
logT(z,a,s1). Since log T'(z, a, s1) and € are independent, we get in turn that, log(r(z, €; s2, ) + K second-order
stochastically dominates log(r(z,€;$1,a)). Therefore, log(r(z,€; s2,a)) is, once de-meaned, a mean-preserving
spread of log(r(z,€;s1,@)). The same proof is readily adaptable to the case of «, now holding s fixed. |

D. Proofs of section 3.3

D.1. Lemma 7

Proof Consider a given city of size L developed by city developer i. Equation (6) shows that, for a given city size
and a given sector, labor hired by local firms is proportionate to the ratio of firms profit to the (common) local
wage. Using this relationship, the city developers problem (14) then simplifies to

S
- —> VLo L
an g, Te=ta 2 ; 5o /ZTJ(L)z( \L)1(z, L,i)dF} (2) (D.39)

Let N;( f li(z,L)1(2,L,i)M;dF;(z) denote the number of workers working in sector j in this specific city
i. It follows that Ej:l Ni(L,i) =L —€u(L) = L(1 — (1 —n)(1 — b)) where £ (L) is the labor force hired in the
construction sector and the second equality uses (13).

The problem is akin to a Bertrand game. Consider a given city size L. Free entry pushes the profit of city
developers to zero in equilibrium. I prove now that this drives 7}(L, z) to the common level T} = b(lzj)((ll_fnc;ﬁfg)fl)
. First, assume that for a given (z,j), the maximum subsidy offered is strictly less than T}. New city developers
could offer T} for (z,j) and 0 for all other sectors, attract all (z, j) firms for whom this subsidy is more attractive,
and make exactly zero profit, as M; [, ¢;(z,L)1(z, L,i)dFj(z) = L(1 — (1 —n)(1 — b)). Second, assume a city
developer offers a subsidy Tj(L, 2) > T} for a couple (z,). This leads to negative profits. To see this, consider all
cities of size L, and take the one that offers the highest subsidy city to (z, ) firms. Call this city i. From the first
step of the proof, we know that in any given city, for all sectors k, either Ty (L,2) > T} and Ny > 0 or T}, < T}
and Nj = 0. Therefore,

S S *
3 . Miw(L)T, /zk 2, L)1(z, L, i)dFy(z) = i _a(L)T Ny

el —Ozk)(()'k—l

k=1
>b(1 —n)w(L)L

so that IT* < 0. [ |

D.2. Extension with Specific Subsidies

I examine here the case where land developers can observe firm types z and offer specific subsidies that are z-
industry-city specific, rather than ad-valorem and constant within industry in the baseline model. Specifically, land
developers offer a specific subsidy S;(z; L) to each firm of type z in industry j coming to their city of size L. I show
here that the same outcome as in the baseline model is still an equilibrium. That is, the following is an equilibrium:

- A city developer targets a city size Lo and announces a fixed subsidy S;(Lo)d(z — 2} (Lo))d(L — Lo) where
0(0) = 1, and 6(z) = 0 for  # 0. This subsidy is targeted to firms for which LO is the best choice of
city absent any subsidy, ie. the ones for which 2z = 27(L), where 27 (L) is the inverse of L}(z) defined in

X



equation (8) in the main text. The subsidy is 0 for other firms. The subsidy does not vary with the profit
of the firm, but instead is fixed to the same level as what is effectively paid in the baseline equilibrium:

O'j—l
S;(Lo) = Ti7,;(2;(Lo), Lo), where T write 7; (23 (L), L) = f1; <j,f§L)L)) R; P{’"" the profit of the firm
absent any subsidy.
- All cities in the optimal set £ are announced by developers

- Firms of type z*(L) choose cities of size L.

The proof that this is an equilibrium is as follows. Given these subsidies offered by developers, a firm of type z
chooses its optimal location as follows:

mLaX’]T](Z L)y+1,_ Li(2)5; (25 L5(2)).

Given that maxy, 7;(z, L) = L}(2), the optimal choice of the firm with subsidy is also L}(z). A developer makes
the following profit in his city, where I write /V; the number of firms in sector j that end up in this city :

I, =b(1—1n) ZSN

= b(1 1) ZNT*~ ;(L),L)

L w(L)t(5 (L), L)
= b(1 — (L)L - ZNa'Tj (T—a5)(o; — 1)

S LI W T D D). )
b(1 —n)

—(1-n@- b)L(l —(1=0)(1—mn))

where the second equality comes from the definition of the subsidy, the third equality comes from equation
(6) in the main text, the fourth equality uses the definition of 7} from the main text, and the last one uses the
local labor market clearing condition: L(1 — (1 —b)(1 — 7)) = Z N;tj(z7 (L), L). 1 finally show that there is no
profitable deviation for a developer. First, it is clear that no developer wants to offer a higher subsidy for firms
for the same city size (that is, for z = 27 (L) in city size L), since it would lead to negative profits given that the
current subsidies yield 0 profit. Also, lower subsidies for the same city size would not attract any firms. We need
to check whether a developer want and can attract a firm of type z in a city that is not the unconstrained optimal
choice L*(z)ofthefirm. The proof is by contradiction. Assume that a developer targets firms z in cities of size
Ly # L*(z) and offers them a specific subsidy Ss. For the subsidy to be attractive for firms, it has to be that:

Sy > 7(z, L*) + T*7 (2, L*) — 7(2, L), (D.40)

since the alternative for firm z is to choose city L*(z) — simply written L* here — and get a profit of 7(z, L*)
plus a subsidy T*7(z, L*). For the subsidy to generate positive profits for the developer, it has to be that:

SQNQ S b(]. — ’f])’LU(LQ)LQ’

where N; is the number of firms of type z that populate a city Lo such that the local labor market clears,

that is: Ny = L2(1;2(2;2()1’b)) = L2E‘i(_’:(i;8:(11);272§;)b)). Therefore the condition for positive profits becomes:

Sy < %(1 —a)(o — 1)7(z, Lg), which is precisely T*7(z, L2). Finally, note that by optimality of L*,

#(2, L*) + T*7 (2, L*) > (2, La) + T*7(2, Ls).

Therefore, T*7(z, Lo) < 7(z, L*) + T*7 (2, L*) — 7(z, L2) and S5 cannot at the same time satisfy Sy < T*7(z, Lo)
and condition (D.40) . This contradiction means that there is no profitable deviation for a land developer. This



conclude the proof that the distribution of firms and cities of the baseline model is still an equilibrium of the model
with specific subsidy for type-z firms.

D.3. Lemma 8

Proof Let L, denote the suboptimal city size where firms of type (2, j) are located. They get profit 77 (2, L,).
75 (25,L7(2))

Denote A = EEGic 7 i 1 > 0. A city developer can open a city of size L*(z) by offering a subsidy T, =
A

1113 (1+ T;‘) — 1, which will attract firms as they make a higher profit than at L,, and allows the city developer

to make positive profits. City size distribution adjusts in equilibrium to determine the number of such cities. Nl

D.4. Lemma 9

The proof is in the main text.

E. General Equilibrium

I use the following notation:

Ej:/ Yiz Lj(2), 59) dF(z) ,and S; /< = L5(2), ) >0j1dFj(Z)7

bL—m) (1 (1—a;)(e;—1) b(1—m)(1—ay)

[(1=n)L;(2)] ! [(A-nL;(z)]

where E; and S; are sectoral quantities that are fully determined by the matching functions L} (2) for each sector j.

They are normalized measures of employment and sales in each sector.? To find general equilibrium quantities P;,
M; for all j € {1, ..., S} and R, the aggregate revenues in the traded goods sector, I write the free entry conditions
for firms (equation (E.41)), the goods market clearing conditions (equation (E.42)), and the national labor market
clearing condition (workers works either in one of the traded goods sectors or in the construction sector, equation
(E.43)). This leads to the following system of equations:

fej P =(1+T )k S;&RPPTY, forall j € {1,..., S}, (E.41)
1= 0;k1; M; S; P77, forall j € {1,..., S}, (E.42)
S
o;—1
Nv=> ko E; M; GRP{ ™ + N(1—b)(1—1n), (E.43)
j=1

where fg; is the units of final goods used up in the sunk cost of entry, P is the aggregate price index, and
the last term derives from equation (13). First, the national labor market clearing condition (E.43) together with
equation (E.42) leads to the aggregate revenues in manufacturing,

1—(1=b)(1—
R=N_—3 ((1,%)()(,(],,1)”),37,
Zj:l Tﬁjsﬁ

(E.44)

This pins down uniquely the general equilibrium quantity R. Second, I combine equations (E.46) and (E.41) and
write R1; = /@UPQ-?'("J'_D. This is a constant parameter, whereas r1; depended on the GE quantity P.* This leads

2Given the wage equation (4) and the expression for operating profits (5), aggregate operating profits in sector j are
Kk1j M; S R; P;j _1(1 + T;). Similarly, aggregate revenues in sector j are o; K1; M;S;R; P;’j ! and aggregate employment
in sector j is ko; M; E; R; P;j_l, where the sectoral constant kg; is k2; = k1;(1 — a;)(0; — 1).

3 This is because x1; depends on the price of capital which is constant, fixed in international markets in units of the
internationally traded good. Since the price of the traded good is not taken as the numeraire here, the cost of capital if pP
in terms of the numeraire, with p a constant.
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to :

o s s 1 ECE)
T . . : E.45
1;[ 3 R (1+T17)S; R (E.45)
_0%1 +& & &n
S & —0712 +& .. fn
where I have used that P = [] (f—;)gi Note that the matrix . . has full
j=1 : : :
&1 3 —07” + &n

rank and is invertible. Therefore, equation (E.45) has a unique solution in {P;};=1..n . This pins down P in turn.
Finally, equations (E.42) leads to the sectoral mass of firms:

pailo;—1)
Mj=———76+7=. (E.46)
O'jlﬁlj Sj Pj J

Therefore, equations E.41-E.43 have a unique solution (R, Mj, P});=1...5-

F. Stability

I verify here that the equilibrium described in section 3 is stable. First, I study the reaction of the economy to a
perturbation of the equilibrium where only workers’s location or firms’ location are perturbed. Second, I examine
a perturbation of both firms’ and workers’ location.

It is straightfoward to see that the equilibrium is stable to a small perturbation of the location of firms, holding
workers location constant. No firm has an incentive to deviate from the initial equilibrium, as they all choose their
profit maximizing city size in the first place. The equilibrium is also stable to a small perturbation of the location
of workers, holding firms location constant. To see this, fix the set of equilibrium cities as well as the set of firms
located in each cities. Consider city ¢. In equilibrium its population is L, and it has n; firms of raw productivity

% with K a set of general equilibrium.

Y(z5,L,85)%3 !
(L)(l aj)(oj—1)+1

zj from sector j. Labor demand for each firm is ¢; = K

The local labor market clearing condition is an = L. This implicitly pins down the wage

b(1—mn)
7. I now

w(L) as a function of L if workers move to the city. Workers’ utility in this city is is U(L) = w(L)L

dlogu(L) _ w'(L)L _ b(1-n)
dlogl, .~ w(L) g assume that

show by contradiction that this level of utility decreases with L. Since
w (L)L o b(1=n)
n

. Differentiating the local labor market clearing condition leads to

w(L)
ZJ7L 55)7" V2 w'(L)]
Z n; oo |0~V — (1= ey = D+ D] =1 (F.47)
Using in equation (7) leads to L [(O'j - 1)% —(I—aj)(o; —1)+1)= LL))] < 717(17]7—7;) < 0,, so that (F.47) is
contradicted. Hence 8%397“@) < 0. |

Second, I study the reaction of the economy to a perturbation of the equilibrium where both workers and
firms’ location are perturbed. I show here that the economy converges back to the initial equilibrium. In the
initial equilibrium, land developers on these sites had posted a subsidy schedule Tj*é (L — L;), which was the one
compatible with the initial equilibrium with city size distribution f} (L) (see main text, section 2.2.2.). Sites were
initially populated with the posted number of workers (L; for developer i), and firms which chose these sites got
subsidy 77, but this is not necessarily the case anymore. If their population has changed following the perturbation,
then firms earn 0 subsidy in these cities, and land developer make strictly positive profits in these cities.

To study the stability of the initial equilibrium to this perturbation, I assume that the game is played se-
quentially. Land developers play first, in decreasing order of their current profit (for example). They announce a
new subsidy scheme. Once all of the current land developers have spoken, potential entrants can also announce a
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subsidy scheme. Then, firms and workers can choose to relocate if they want to, taking these subsidy as given. If
necessary, the game repeats until an equilibrium is reached. But I show here that the equilibrium is reached after
one iteration, because the optimal subsidy schedule T;(;(L — L;) will be posted by land developers. The proof is
by contradiction. Let us first take the subsidy distribution as given, and study how firms and workers sort across
space. Necessarily, workers choose cities such that U(L) = U for some value U. Otherwise, the workers would move
away from cities with lower utility and into cities with higher utility. This location choice of workers leads to a set
of city sizes £, and pins down the wage schedule up to a constant (see equation (4)): w(L) =w LYE", Necessarily,
firms choose the city that maximizes their profit, that is:

o;—1
7i(z, L) = R (1 +T;(L)) (W) R; ijj_l

=
Lbin” (1-a,

Li(z) = argmax s 7;(z, L).

c—1)(1-«

First, assume first that for some city size Lo , a city developer meikes )Iiosit)ive profits (ie the effective subsidy
there is T < %). This is not compatible with all city developers maximizing profit. Indeed, a city
developer with unused land, anticipating this, would have offered a subsidy (T + €) §(L — Lg), with T + € < T*,
that would have attracted the same firms and generated profits for the developer. Therefore, it must be that no
city developer makes positive profits after that round. In other words, effective subsidies collected by firms are

necessarily T' = T*. Therefore, firms chose:

Finally, land developers make the following profit: [b(l —-n) — Tw} w(L)L.

o;—1
~ ~ * ,L, i ’ O’j*l
(2, L) :"‘J‘(1+Tj><;§’l(lsfﬂ> R Py

Li(z) = argmax; .z 7;(z, L).

Second, assume that some firms are not back to their optimal city size L*(z). That is, not all city size in L£*
are offered in £. There exists a city size Lo for which f1,(Lg) > 0 in the baseline equilibrium, but no developer
has offered the subsidy scheme T;§(L — Lo). Absent this option, the corresponding firms zo = L*~* (L) must have
chosen a suboptimal city L; with subsidy 7. These firms make a profit 7} (20, L1) < 7} (20, Lo). A city developer
with no city, anticipating this, would have offered a subsidy 7 d(L — Lo) — € (with € > 0 arbitrarily small), that
would have attracted the same firms, as it strictly improves their profits.

We have thereby shown by contradiction that it must be that all optimal city sizes are announced by developers
with a subsidy 7™. Therefore, the economy converges back to the intial equilibrium, which is stable to a small
perturbation of both firms’ and workers’ locations. |

G. Welfare analysis

G.1. Social planner’s problem

The utility function is as follows?:

_b(A—mn)

U(L)=c(L)L™ 7. (G.48)

I report here the results for a single-sector economy, for simplicity. The intuitions are unchanged in a multi-
sector setup. The problem of the planner is to choose allocations optimally, namely
(1) for each firm z, its level of input ¢(z) and k(z) and its city size L(z)
(2) the mass of firms M and the distribution of city sizes G(L)

4As in the competitive equilibrium, a constant fraction of the local labor force is used to build housing. In this reduced-
form utility function, congestion increases log-linearly with city size. The following results therefore hold irrespective of the
source of congestion in the economy, as long as it increases log-linearly with city size. Utility has been renormalized by a
constant and by taking utility in (G.48) to the power %
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(3) the share (L) of total consumption C' consumed by a worker living in a city of size L, in order to maximize:

Y(L)C
pi=n’

L° ™

U(L) =

such that:
1. U(L) =U if g(L) > 0 (free mobility of workers)

o

2 C=Q-Mfy—Mp[k(=)dF(z) ; Q = (f Ma(z L(2)) 7 dF(2))
and q(z,L) = (2, L,s) k(2)® £(2)} = (production technology)
3. [v(L)L dG(L) <1 (workers consume at most C')
4. [1—(1—n)(1—b)] fOL udG(u Mfz ) 0(2) dF(2) (local labor markets clear)

5. [ LdG(L) = N (aggregate labor market clears)

Combining the constraints lead to the following;:

/ (L)L dG(L C/L”*+1 dG(L)
U=

1—n

J 5

The local labor market clearing condition for cities of size L; yields®:

HdG(L)

dG(L) = WdF(z) (G.49)

Define I' = M |, L(z)b%f(z) dF(z) = be¥+1 dG(L) the aggregate congestion in the economy. The problem
of the social planner reduces to:

=lQ

max (G.50)
L(2),0(2),k(z),M

o—1 Y
such that M [ £(z) dF(z) = N, with C' = (f M [z, L, s) k(2)® €(z)1=2] dF(z)) "M fp—Mp [ k(2)dF(z).
The city size distribution G(L) does not directly enter the objective function. It adjusts such that the local

labor markets clearing condition holds in equilibrium.
Taking the first order conditions with respect to k(z) and solving out for k(z) leads to

C = w* M T U(lp(z, L,s) (=) dF(z)] Y M,

ot+a—ao’

where £* = (%)m (1—a)and ¢ = -2
Taking the first order condition with respect to L(z) leads to:
Yo(z, L,s)L 1 —n

G Ls) =b ; (1—a)x(z), (G.51)

whereS

n

~ i )
W)= [@2fe) HLE" T [a()? dE()
- ~ -7 » .
Q [0(z)L(z)" il
°In particular, this yields the distribution of city sizes G(L) once M, k(z),£(z) and L(z) are known for all firms.
- 1 1
°T use the notations §(z) = ¢(z, L, s){(2)'™*, Q=r"MT-2@=1 [[(§(z))? dF(z)] ?0-.

(G.52)
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The first order condition with respect to M yields

1 Q
) = G.
(@=L ~a) (Q_fE> (G.53)
Taking the first order condition with respect to £(z) leads to:
@ 1 (L)
. q - = = AME G.54
<Q - E> FiGP F6) oo are (@51)

In particular, summing this over all types of firms and using (G.53) and the labor market clearing condition
lead to:

I _ - (G.55)

1 1
and A = § G=pa=a=1
Plugging in ¢; = (25, L(z;))¢(2)! ™ into equation (G.54) and using (G.53) gives the following expression for

0(z):

o—1

R 0] (Q—fE LT
(Jat)?)®

SIS

1 ac—a—0o
@ [U(=)L(z)" T dF(2) (0_1)(1_a)> : (G.56)

G.2. Comparison with the competitive equilbrium

Rearranging equation (G.52), using (G.56) and (G.55), leads to

L(Z)bl;n
r
N

pl=n
L(z)” 7 +

x(z) = - : (G.57)

(c—1)(1—a)—1

1—7

where I' = M | L(z)"7 0(2) dF(2) is a measure of “aggregate congestion” in the economy. Therefore, in
particular, x(z) < 1 for all j. There is a wedge in the incentives of location choice between the competitive
Vs (z,L,s)L
TG L)
assumption (which ensures the concavity of firm’s profit function), this means that firms choose cities that are too
small in the decentralized equilibrium.

equilibrium (equation (7)) and the social planner problem (equation (G.51)). Since is decreasing in L by

G.3. Implementing first best

To align firms’ incentives in the competitive to the solution to the social planner’s problem, firms have to see a
wage of the form

1-n

w(L) o (L7 4 A) (G.58)

1—n
where A = & ——4——. This is in contrast to w(L) o b=

N oD =a)= in the decentralized equilibrium, set by the free
mobility assumption. This allows both the size of the workforce and the choice of city size to be aligned in the two
equilibria. Finally, the mass of entrants is suboptimal in the competitive equilibrium (after correcting for these
effects). This effect is classic in monopolistic competition framework, and is not of direct interest here as it does

not interact with the choice of city sizes.”

a+7T") Q

" In the competitive equilibrium, the mass of firm is given by M = P

whereas in the social planner’s problem it

is given by M = m%

p.q%



H. Estimation

H.1. Identification

To guide intuition on identification, I derive the distribution of firm value-added across cities of different sizes. The
setup is the one developed to study imperfect sorting in section B.1.

Note that firm value added is proportional to profits: r;(z;, L) = o;m;(2;, L) I focus from now on on one sector
and omit the sectoral subscript for simplicity. The distribution of value added across cities of different sizes is:

E(r|L) = E. L [E(r|L, 2)]
:/E(T|L,z)p(z\L)dz

z

= z f(Z) r z y4
= [pE L R B d
()

= [P ) s

The first equality uses the law of iterated expectation. The last equality uses a property of the Frechet dis-
tribution: the expectation of the profits are the same for a firm of a given type z irrespective of which city size
the firm has chosen. That is, E(n|z) = E(r|z,L*) so that in turn, since profits are proportional to value added,
E(r|z) = E(r|z, L*). Furthermore, using again the properties of the Frechet distribution, this expectation is:

v

E(rn|z) =T(v) , (H.59)

ZV(Z,L)V
L

where we write v = i the shape parameter of the Frechet distribution relevant for profits. We also know that

the probability that a firm of type zchooses a city of size L is:

p(L[z) = % (H.60)

We can therefore write that:

E(r|L) = ﬁL) / P(LI2)E(r|2)f(2) d

C / —
=—— [ V(z,L)YE(r|z) 7" f(2) d=.
A (2, L) E(x|2) " f(2)
where C' is a sectoral constant. One case that helps understand the intuition behind the identification is when

vr = o — 1. In that case, we can readily see that the distribution of value added across cities of different sizes
simplifies to:

E(r|L) = fL6(}1) /Z V(z,L)f(z) dz
= foL)L(”l)[“bm(la)] /Zexp ((0 -1) {logz (1 + log E) s}) f(2) dz,

where we have used the value of V(z, L) from equation (C.34) and the definition of productivity in equation (20)
of the main text. Given that zis (truncated-) log normally distributed, that is, log z is distributed like a mean-0

normal truncated at its mean, this integral can be computed as follows. Note S(L) = (1 + log E) 5. Then, we get
that:
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E(r|L) = c O e bl_T”(lfa)}/Z(afl)S(L)f(Z) s

fL(L) z
_ Y eves5r0-alp [Le-1SW@)
=t B[]

If z was log normally distributed without truncation, we would simply get that Fiog Ar [z("j -1s (L)} = exp( (
so that:

2

(1 + log f/) 25 (g — 1) 12
2

c

A )L(a—l)[a—bl_T"(l—a)] exp

E(r|L) =

Taking into account that z is truncated (at the mean of the normal) we get an additional term®so that

5(L)% (o —1)2u2 B y
E. [Z(a—l)S(L)] — ew(ﬁ;‘b((a DS@Lv=) o0
/ L, (1 + log I~/) 25 (g; — 1) 12
(T|L) = LL(U_l)[“—bln (1_a)] exp 5 J @((Uj _ 1) S(L)Vz),

fu(L)

where C’ is a sectoral constant. Finally, taking logs, this equation gives us the relationship between average
value added and city size (within a sector) in a (non linear) regression format, and thus helps us understand what
variation in the data help identify the parameter:

log(E[ri|Li]) = C" —log (fL(Ls)) 4 Brlog Li + B2 (1 + log L;) > + log [®((o; — 1) S(Li)v.)], (H.61)
where
= (o — a— el -«
pr=(0c—-1) b ; (1-a)
(o102
fr= T

The parameters o, bi=1 7 1 and « are calibrated in the first stage, the parameters (a,v,, s) are the ones we aim to
estimate. We can see from this expression that we can identify £, 82 and s (hence a,s and v, ) from a non linear
least square regression of r on functions of L. The parameters a and s both impact firm productivity and profits,
but a impacts them log-linearly with city size, and s impacts them more than log-linearly because it entails the
sorting of more productive (high z) firms into larger cities. The shape of the distribution of firm value added with
respect to city size pins down the agglomeration parameters. The log-linear term identifies the classic agglomeration
economies forces a, and the convex term identifies the sorting forces, that is the interaction of v, and s. To identify
in addition the parameter vy, I bring in additional moments that characterize the firm-size distribution and the
sectoral distribution of activity.

H.2. Moments

Distribution of average value-aded by city size. The distribution of average firm value-added as a
f’r‘ ]lL*(z) LdF;(z)
f]lLJ(z> LAdF;(z)
of sector j firms that locate in city L. Normalize firms value-added within a given sector by their median value.
Group cities by quartile of city sizes, call them g = 1...4. For each quartile, compute the data counterpart of
E(log(7;|L;))) in (H.61) as the sample mean M, of log(7;(L;)). The targeted moments are {M,}

function of city size is computed as follows in sector j. Define 7;(L) = the average value-added

¢=1,2,3,4"

8 If Z is distributed log normal, where the normal has mean p and variance v2, then:

f et tvi2g (M)
z Vz
E(2|Z > &) = Jeo 920z _ :
- c1>(o) ()

where ® is the CDF of the standard normal distribution,
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Distribution of total value-added by city size I order cities in the data by size and create bins using
as thresholds cities with less than 25%, 50% and 75% of the overall workforce I normalize city sizes by the size of
the smallest city, and call tZ the city size these thresholds. I compute the fraction of value-added for each sector in

each of the city bins, both in the data and in the simulated sample. The corresponding moment for sector j and bin

B > ; fT’;(Z)]lL;(z):L dF;(z)
. tL<p<tl . . ..
iis si? = wlf Here) , where 77 (2) is the value-added of firm z and 1p:(,)=r, is a characteristic

function which equals 1 if and only if firm z in sector j chooses to locate in city size L.

Firm-size distribution. I retrieve from the data the 25, 50, 75 and 90th percentiles of the distribution of

firms’ normalized value added and denote them ¢;”. These percentiles define 5 bins of normalized value-added. I

I ]lt:"j <7j()<edy dF;(2)

JdF;(z)

then count the fraction of firms that fall into each bin s/ = , where 7;(z) is the normalized

value added of firm z in sector j.

H.3. Simulation and estimation procedure

I simulate an economy with 100,000 firms and 200 city sizes. I follow the literature in using a number of draws
that is much larger than the actual number of firms in each sector, to minimize the simulation error. I use a grid of
200 normalized city sizes L, ranging from 1 to M where M is the ratio of the size of the largest city to the size of
the smallest city among the 314 cities observed in the French data. This set of city-sizes L is taken as exogenously
given.? In contrast, the corresponding city-size distribution is not given a priori: the number of cities of each size
will adjust to firm choices in general equilibrium to satisfy the labor-market clearing conditions.

The algorithm I use to simulate the economy and estimate the parameters for each sector is as follows:

Step 1: I draw, once and for all, a set of 100,000 random seeds and a set of 100,000 x 200 random seeds from a
uniform distribution on (0, 1).

Step 2: For given parameter values of vgp and v,, I transform these seeds into the relevant distribution for firm
efficiency and firm-city size shocks.

Step 3: For given parameter values of a and s, I compute the optimal city size choice of firms according to equation
(21).
Step 4: I compute the 13 targeted moments described below.

Step 5: I find the parameters that minimize the distance between the simulated moments and the targeted moments
from the data (equation (22)) using the simulated annealing algorithm.

The estimation is made in partial equilibrium, given the choice set of normalized city-sizes L. It relies on measures
that are independent of general equilibrium quantities, namely the sectoral matching function between firm efficiency
and city size, and relative measures of firm size within a sector.'?

H.4. Standard errors

Following Gourieroux et al. (1993), the matrix of variance-covariance V; of the parameter estimates in sector j is
computed as follows:

1
‘/j = (1 + ﬁ)(G;WJG])71(G;W]Q]WJGZ)(G;W]G])il, where

9As pointed out in the theory section and developed above in B.4., the characterizations of the economy provided in
Section 3 hold if the set of possible city sizes is exogenously given.

108pecifically, as detailed in the theoretical model, the optimal choice of city size by a firm depends only on its productivity
function and on the elasticity of wages with respect to city size. It does not depend on general equilibrium quantities. The
sizes of all firms in a given sector depend proportionally on a sector-level constant determined in general equilibrium (see
equations (9) and (10)). Normalized by its median value, the distribution of firm sizes within a sector is fully determined
by the matching function.
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N, is the number of simulation draws and W; is the variance-covariance matrix of the data moments used in
estimation. The reported standard errors are the square-root of the diagonal of V.

I. Policy analysis

I.1. Computing new equilibria in response to policy change

To compute the counterfactual equilibrium, I proceed as follows.

Step 1: I start from the equilibrium estimated in the data. I hold fixed the number of workers in the economy, the
real price of capital, the set of idiosyncratic productivity shocks for each firm and city-size bin, and the
distribution of firms’ initial raw efficiencies.

Step 2: I recompute the optimal choice of city-size by firms, taking into account the altered incentives they face in
the presence of the subsidy.

Step 3: Because the composition of firms within a given city-size bin changes, total labor demand in a city-size bin
is modified. I hold constant the number of cities in each bin and allow the city size to grow (or shrink)
so that the labor market clears within each city-size bin. This methodology captures the idea that these
policies are intended to“push” or jump-start local areas, which in addition grow through agglomeration
effects.!!

Step 4: As city sizes change, the agglomeration economies and wage schedules are modified, which feeds back into
firms’ location choice.

Step 5: I iterate this procedure from step 2, using the interim city-size distribution.

The fixed point of this procedure constitutes the new counterfactual equilibrium.

1.2. Decomposition

w
P"p};n ’
the local housing cost. Plugging in the values of w and py as functions of L, this can be simply reexpressed as

U= (%)"= ()", given the choice of numeraire w. From (E.46) and (E.45), one gets the expression for the

aggregate price index, which leads to

Welfare is measured by worker’s real income, constant across space. It is given by U =

where pp is

n
—a

7 > &j e Sjng(i—ay)\ T
oo (TIrert) ™ (11 ,

j=1 j=1 J

S
where & = ) «;§; is an aggregate measure of the capital intensity of the economy.
j=1

S
The term [] TFP;-’ is a model-based measure of aggregate productivity. Take the example of a policy that
j=1
increases TFP by pushing firms to larger cities. It has a direct positive impact on welfare, magnified by the term
ﬁ that captures the fact that capital flows in response to the increased TFP in the economy, making workers
more productive. This effect is dampened by the second term, which captures the congestion effects that are at

play in the economy. Wages increase to compensate workers for increased congestion costs in larger cities. Here, 2=
J

measures the ratio of the average sales of firms to their average employment in a given sector. It is a model-based

measure of the representative wage in the economy, since Zi 8 x w(L*(z)) for each firm. A policy that tends to
J

push firms into larger cities will also tend to increase aggregate congestion in the economy by pushing workers
more into larger cities. Individual workers are compensated for this congestion by increased wages, in relative
terms across cities, so that all workers are indifferent across city sizes. But the level of congestion borne by the
representative worker depends on how workers are distributed across city sizes. It increases as the economy is
pushed toward larger cities. This negative effect is captured by the second term in the welfare expression that
decreases with the representative wage.

1T maintain the subsidy to the cities initially targeted as they grow.
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J. Additional figures

J.1. Model fit

Figure J.1: Average value added by quartile of city size, model (blue) and data (red).
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Figure J.2:

Sectoral distribution of firms revenues, model (blue) and data (red).
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J.2.

Impact of policies

Figure J.4: Aggregate impact of local subsidies, as a function of the cost of the policy (% of GDP).
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Note: The x axis represent the cost of the policy in percentage of GDP. Firms profits are subsidized when they locate in
the smallest cities of the reference equilibrium. The targeted area represents 2.3% of the population. The policy is financed
by a lump-sum tax on firms.

The horizontal axis measures housing supply elasticity in the economy
housing supply is 1.75, the 25th percentile is at 2.45 and the 75th percentile at 1.25.

Figure J.5: TFP and indirect welfare effects of increasing housing-supply elasticity.
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Saiz (2010) reports that median elasticity of
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